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1 Introduction

This document is a report on the following email discussion:

· [AT122][509][V2X/SL] Discussion on MCSt (OPPO)


Scope: Discuss RAN2 response/feedback for the questions in RAN1 LS. Discuss which option is preferable from RAN2 point of view (with consideration of RAN2 impacts).


Intended outcome: Discussion summary in R2-2306714.  

Deadline: To be treated in comeback session 5/25.

2 Contact Information

	Company
	Name
	Email Address

	OPPO
	Bingxue Leng
	lengbingxue@oppo.com 

	LG
	Giwon Park
	giwon.park@lge.com

	Ericsson
	Min Wang
	Min.w.wang@ericsson.com

	InterDigital
	Martino Freda
	martino.freda@interdigital.com

	Lenovo
	Jing Han
	hanjing8@lenovo.com

	Xiaomi
	Li Zhao
	zhaoli6@xiaomi.com

	ZTE
	Lin Chen
	chen.lin23@zte.com.cn

	ASUSTeK
	Xinra Kung
	Xinra_Kung@asus.com

	Intel
	Ansab Ali
	ansab.ali@intel.com

	Nokia
	Jakob Buthler
	Jakob.buthler@nokia.com

	Spreadtrum
	Xing Liu
	xing.liu1@unisoc.com

	Sharp
	Yinan Zhao
	Yinan.zhao@cn.sharp-world.com

	vivo
	Jing Liang
	liangjing@vivo.com

	Huawei, HiSilicon
	Yinghao Guo
	yinghaoguo@huawei.com

	Qualcomm
	Qing Li
	qinli@qti.qualcomm.com


3 Discussion

R1 sent LS to R2 on the resource (re)selection impact due to MCSt.

Q1 as follows

Question 1 (for Approach 1 / Approach 2): feasibility of selecting the resource for a single TB in MAC layer (single-slot under Approach 1, multi-slot under Approach 2)  with the principle of “concatenating” across separate resource selection triggers (across TBs)

In Approach 1/2, the concatenation of resources for multi-TBs are in a best effort / opportunistic manner:

•
Step 3: Higher layer selects a candidate multi-slot resource either randomly (R16/17 behavior) or according to a consecutive-slots criterion (new behavior)  .

•
Step 4: Repeat Step 1-3 for different TB if required.

So basically, it is to say, e.g., the MAC layer firstly selects resources for TB-1, and later selects resources for TB-2, and when selecting resources for TB-2, the resources can be selected in a way to concatenate resources selected for TB-1 when possible. 

The following question is to check companies view on the answer to this RAN1 Question 1:

Question 1: What is your answer to the above RAN1 Question-1, i.e., the feasibility of selecting the resource for a single TB in MAC layer (single-slot under Approach 1, multi-slot under Approach 2)  with the principle of “concatenating” across separate resource selection triggers (across TBs)?

· Option-1: Feasible;

· Option-2: Not feasible;

	Company
	Option
	Comments

	OPPO
	 Option-1
	

	NEC
	Option-1
	

	LG
	Option-1
	Both approach (approach 1 & approach 2) can achieve MCSt for SL-U communication.

For approach 1, to achieve MCST it needs to define new behavior (i.g., consecutive-slots criterion).

For approach 2, as OPPO mentioned MAC layer firstly selects resources for TB-1, and later selects resources for TB-2, and when selecting resources for TB-2, the resources can be selected in a way to concatenate resources selected for TB-1. 

So we think that an approach 2 has less spec impact than approach 1 to ensure MCSt.

	Ericsson
	Option 1
	

	Apple
	Option-1 but the MAC spec change is needed to achieve cross-SL process description of resource seleciton
	Our understanding is that approach 1 and 2 need require cross-SL-process description of resource selection. Specifically, the UE's MAC layer needs to track the resource selection outcome in previous SL process, and selects a resource which is time domain adjacent to the previous selected resources. We think it is a big change of MAC spec. 


	InterDigital
	Option 1

With comments
	It is important in the response LS that RAN2 indicate that MAC layer cannot guarantee that resources are always consecutive.

	Lenovo
	Option-1
	

	Xiaomi 
	Option 1 with comments
	For approach 1, we think it is feasible for MAC to select consecutively, however how to determine if the two adjacent resources for two TBs are “consecutive” enough should base on RAN1 input or leave to UE implementation.

For approach 2, we think it is more complicated to realize consecutive especially considering the multi-slot resource for multiple TBs may be interlaced. So compared with approach 1, we think MAC is less feasible for approach 2. 

[Rapp]: Thanks for the comments, we understand the difference between Approach-1/2 is just the granularity of resource, i.e., whether it is single slot resource or multi-slot resource, while for how to achieve consecutive resources for multi-TB case, we understand it is same for Approach-1/2, i.e., all rely on “concatenating” in a best effort manner (Please correct if any misunderstanding here, thanks)

	ZTE
	Option 1
	

	ASUSTeK
	Option 1
	

	Intel
	Option 1 with comments
	We share Apple’s concern that this seems to go beyond just a matter of feasibility and may incur increased implementation complexity at the MAC

	Nokia
	Option 1 with comments
	Approach 1, relies on legacy behaviour between PHY and MAC where the PHY provides resources to MAC based on legacy signalling, however we see little gain in performance of this as it may drastically reduce the amount of available resources to select in the procedure as MAC must limit to only those fulfilling MCSt requirement.

Approach 2 seems feasible, and with a significant higher gain in performance, but only for the single TB case

	Spreadtrum
	Option 1
	

	Sharp
	Option 1
	

	vivo
	See comments
	From MAC point of view, at least there is an issue about how L2 knows the ‘concatenating’ resource it selects is a valid resource for L1 to perform transmission, and this may involve some inter-layer information interaction that cannot be solved alone with MAC layer. 

For example, the MAC layer may select a resource that is concatenating with another selected resource and hand it to the PHY layer, but the PHY layer later find out that the length of the concatenated resource exceeds the MCOT of the CAPC with which the UE has got accessed to the channel. 

This is a potential issue only for approach-1/2 since it is the MAC layer to ‘best effort’ selecting the concatenating resources. Therefore, we suggest to further study it before determining whether it is feasible.

	Huawei, HiSilicon
	Option1
	Feasible

	Qualcomm
	Option 1
	Feasible for best effort, e.g., selecting the earliest available resource instead of randomly selecting. To ensure the concatenating, the current resource selection (e.g., for TB2) needs to know previous resource selection (i.e., TB1)


[Rapp summary]

Among 17 companies replied this question, 16 companies agree the answer to the RAN1 Question-1 is feasible, i.e., it is feasible of selecting the resource for a single TB in MAC layer (single-slot under Approach 1, multi-slot under Approach 2) with the principle of “concatenating” across separate resource selection triggers (across TBs). 1 company think there is some unclear points. Since there is a clear majority common understanding on this issue, it is suggested to follow the majority view on this.

Proposal 1 For Qustion-1 from RAN1 (Q1 in R1-2304257), R2 replies that it is feasible to select the resource for a single TB in MAC layer and concatenate across separate resource selection triggers across TBs in a best-effort manner. 
Q2 as follows

Question 2 (for Approach 3): feasibility of triggering the resource selection procedures for multiple SL processes at the same time

In current MAC specification, the resource selection is done per-SL process independently, so triggering the resource selection procedures for multiple SL processed at the same time is different from the legacy R2 specification framework, i.e., restrict multiple SL processes to select resources at the same time.

The following question is to check companies view on the answer to this RAN1 Question 2:

Question 2: What is your answer to the above RAN1 Question-2, i.e., feasibility of triggering the resource selection procedures for multiple SL processes at the same time?

· Option-1: Feasible;

· Option-2: Not feasible;

	Company
	Option
	Comments

	OPPO
	 Option-2
	It breaks RAN2 specification structure on the per-SL process resource selection, it is not clear how to restrict “triggering the resource selection procedures for multiple SL processes at the same time” considering the different TBs may come at different time point and it will have too much R2 spec impact to support this restriction. 

· Step 1: Higher layer triggers L1 resource (re-)selection one time for one or multiple TBs with one set of parameters ([image: image2.png]Driory
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) + “number of slots for MCSt” which could be derived based on CAPC of the multiple TBs.



	NEC
	Option-1
	We think there is no blocking issue to enable SL process based transmission. 

[Rapp] Thanks for the comment, we understand companies concern is more on the feasibility of capturing “triggering the resource selection procedures for multiple SL processes at the same time” which is compatible with the current MAC spec

	LG
	Option-2
	In order to support approach 3, a new UE behavior that is not supported by current MAC specification should be introduced, which has a big impact on the MAC.

In other words, RAN2 should define the UE behavior in which the UE selects resources for multiple TBs at the same time and a new behavior in which one set of parameters for multiple TBs is determined.

	Ericsson
	Option 1
	In our view, the key is to assign different (sequential) HARQ IDs to each parallel HARQ process. After that, the legacy procedure is feasible to operate for each HARQ process independently. But this can be further confirmed by other companies.

[Rapp] Just share our understanding for this question, we understand the key issue for the feasibility is about the restriction on UE to trigger resource (re)selection for multiple SL process (multiple TBs) at the same time to achieve the consecutive resource reservation across different processes (i.e., via coupling different processes). 

While for the HARQ ID assignment, we understand it is not relevant to this question (please correct if anything missing here).

	Apple
	Option 1
	In current MAC spec, single SL process of resource selection is described. However, we think it is a kind of modeling approach. It doesn't restrict UE implementation to run simultaneous SL processes. We don't see blocking issues.  
[Rapp] Thanks for the comments, our understanding is this is not just modelling issue since

- Now the triggering condition of each process run independently, to ensure the triggering happens at the same time, we need new solution to ensure that;

- Approach-3 not only require “run simultaneous SL processes” but require multiple SL process (for multiple TBs) to select the resources from the same S_A, which have big impact to MAC spec.
Step 3: Higher layer selects transmission resource for the one or multiple TB(s) from the reported set of candidate multi-slot resource (SA).
 

	InterDigital
	Option 1
	We think this is a modelling issue and can be specified, for example, by having the first process select resources for multiple TBs and the other processes to not trigger resource selection if it was already triggered by another process.  There is no requirement for these resource selection procedures to be triggered at the same time per se.

[Rapp] 
Thanks for the comments, just share our understanding on the current spec, the resource (re)selection is triggered per-SL process as follows

[image: image7.png]52212 TX resource (re-)selection check

If the TX resource (re-)selection check procedure s triggered on the selected pool of resources for a Sidelink process
according to clause 5.22.1.1, the MAC entity shall for the Sidelink process:

1> if PSCCH duration(s) and 2% stage SCI on PSSCH for all transmissions of a MAC PDU of any selected sidelink
‘grant(s) are not in SL DRX Active time as specified in clause 5.28.3 of the destination that has data to be sent;
or

1> if SL_RESOURCE_RESELECTION_COUNTER =0 and when SL_RESOURCE_RESELECTION_COUNTER
was equal to 1 the MAC entity randomly selected, with equal probability, a value in the interval [0, 1] which is
above the probability configured by RRC in si-ProbReseurceKeeg: or

1> if the pool of resources is configured or reconfigured by RRC; or
1> if there is no selected sidelink grant on the selected pool of resources; or

1> if neither transmission nor retransmission has been performed by the MAC entity on any resource indicated in the
selected sidelink grant during the last second: of

1>'if sl Reselectfier is configured and the number of consecutive unused transmission opportunities on resources
indicated in the selected sidelink grant, which is incremented by 1 when none of the resources of the selected
sidelink grant within a resource reservation interval is sed, is equal to sl-Reselectdfier: or

1> if the selected sidelink grant cannot accommodate a RLC SDU by using the maximum allowed MCS configured
by RRC in sl-MaxMCS-PSSCH associated with the selected MCS table and the UE selects not to segment the
RLC SDU; or

NOTE 1: If the selected sidelink grant cannot accommodate the RLC SDU, it is left for UE implementation
whether to perform segmentation o sidelink resource resclection.

1> if transmission(s) with the selected sidelink grant cannot fulfil the remaining PDB of the data in a logical
channel, and the MAC entity selects not to perform transmission(s) corresponding to a single MAC PDU:




So we understand it is not feasible according to current MAC spec to have “by having the first process select resources for multiple TBs and the other processes to not trigger resource selection if it was already triggered by another process”.



	Lenovo
	Option-2
	Agree with rapp and OPPO that existing framework of resource (re)selection is per SL process and big impact on RAN2 spec is expected

	Xiaomi
	Option-2
	For approach 3, MAC triggers resource selection for different TB only one time and delivers only one set of parameters for different TB. This is different from R16/17 and the impact on the specification may be significant, since in R16/17, for each TB resource selection is triggered independently and the set of parameters is delivered for each TB independently. In addition, it remains unclear and needs further discussion on how to derive a single set of parameters for multiple TBs, especially when the QoS requirement of multiple TBs are quite diverse

	ZTE
	Option-2
	For approach 3, it is not clear how to restrict multiple TBs and processes which are triggered by the same set of sensing parameters. If there is any correlation between the multiple TBs, it may have a lot of impacts on MAC.

	ASUSTeK
	Option 1
	While in legacy specification the resource (re)selection is not performed across SL processes, it is not infeasible to introduce a new behavior (though it may induce big spec impact) if Approach 3 is to be supported.


	Intel
	Option 1 with comment
	While we agree that it is feasible, we do agree with OPPO and others that this is quite a departure from how resource selection is captured so far.

	Nokia
	Option 1 with comment
	Although we agree that it is technically feasible, we think that the spec impact may be very large, as we need to define the procedure for MAC to select multiple TBs

	Spreadtrum
	Option 2
	Resource (re)selection is triggered per SL process, especially for some of the triggering conditions, e.g. number of consecutive unused transmission resource exceeds a configured threshold. For approach 3, it will bring big impact on MAC layer procedure for sidelink resource (re)selection

	Sharp
	Option 2
	Share similar view with OPPO.

	vivo
	Option 1
	It should be clarified what the ‘same time’ means. If it means one is accompanied by another one, according to legacy resource selection procedure, it is possible that UE may trigger resource selection procedures for different triggers at the same time or within a small duration with UE implementation. From this perspective, it is feasible to trigger the procedures at the same time.

If not, we agree with Apple that this is modelling issue and can be supported, but may be with some specification impact.`

	Huawei, HiSilicon
	Option2
	

	Qualcomm
	Option 1 w. comment
	Technically feasible if replace current one TB with a set of TBs. It’s relatively straight forward with TBs to one destination (e.g., like CBG based transmission for HARQ process), but can be more work with TBs to different destination. 


[Rapp summary]

Among 17 companies replied this question, 

8 companies think it if not feasible (Option-2);

9 companies think it is feasible (Option-1), with 2 company agree that “this is quite a departure from how resource selection is captured so far”;

Rapp understand when we discuss a solution is feasible or not, the specification effort is also one dimension to be considered, i.e., whether it can be specified compatibly with current specification and whether it can e done in a limited time. 

Considering the diverse views on this issue, it is suggested RAN2 to discuss the answer to Question-2 from RAN2. 

Proposal 2 For Qustion-2 from RAN1 (Q2 in R1-2304257), R2 to discuss how to reply to R1 on whether it is feasible trigger the resource selection procedures for multiple SL processes at the same time. If R2 cannot coverage, R2 replies that there is no consensus in R2 on the feasibility of approach-3. 

Q3 as follows

Question 3 (Approach 2/ Approach 3): feasibility of providing a new parameter “number of slots for MCSt” to L1 when triggering resource (re-)selection for MCSt

There could be different angles to this question. 

One angle is MAC layer is in a better position to provide such parameters since the MAC layer knows better the traffic characteristic which may affect the PDU number in a burst, and also knows parameters like maximum HARQ retransmission number by reading the upper layer configured CBR table.

The other handle is PHY layer is in a better position to provide such parameters since PHY knows better the resource status, considering finally the number has to be dependent on resource availability. 

The following question is to check companies view on the answer to this RAN1 Question 3:

Question 3: What is your answer to the above RAN1 Question-3, i.e., feasibility of providing a new parameter “number of slots for MCSt” to L1 when triggering resource (re-)selection for MCSt?

· Option-1: Feasible;

· Option-2: Not feasible;

	Company
	Option
	Comments

	OPPO
	 Option-1
	

	NEC
	Option-1
	

	LG
	Option-1
	

	Ericsson
	Option 1
	

	Apple
	Option-1
	

	InterDigital
	Option 1
	

	Lenovo
	Option-1
	

	Xiaomi
	Option-1
	

	ZTE
	Option 1
	

	ASUSTeK
	Option 1
	While it is feasible for RAN2 to provide such parameter, perhaps it’d be beneficial to clarify whether RAN2 is to provide one parameter for a MCSt burst or multiple parameters for different TBs in a burst (and other subsequent transmissions).

	Intel
	Option 1
	

	Nokia
	Option 1
	

	Spreadtrum
	Option 1
	

	Sharp
	Option 1
	

	vivo
	Option 1
	

	Huawei, HiSilicon
	Opiton1
	

	Qualcomm
	Option 1
	


[Rapp summary]

Among 17 companies replied this question, all the companies agree the answer to the RAN1 Question-3 is feasible, i.e., it is feasible of selecting the resource for a single TB in MAC layer (single-slot under Approach 1, multi-slot under Approach 2) with the principle of “concatenating” across separate resource selection triggers (across TBs). 

Proposal 3 For Qustion-1 from RAN1 (Q1 in R1-2304257), R2 replies that it is feasible to of provide a new parameter “number of slots for MCSt” to L1 when triggering resource (re-)selection for MCSt. 
Besides the above RAN1 Questions in the LS, there is also some interests in RAN2 to discuss the preferred solution from RAN2 perspective, as indicated in the scope of this offline discussion, the preferable option from RAN2 point of view should take RAN2 spec impact into consideration, so the following table summaries companies’ view on the potential RAN2 impact for each approach  

	
	Detailed steps
	RAN2 impact

	Approach-1
	“best effort for multiple TBs”

· Step 1: Higher layer triggers L1 resource selection for one TB with one set of parameters ([image: image9.png]DYioTx
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) - R16/17 behavior.

· Step 2: L1 report a set of candidate single-slot resource (SA) according to existing L1 resource allocation procedure - R16/17 behavior.

· Step 3: Higher layer selects a set of resources either randomly (R16/17 behavior) or according to a consecutive-slots criterion (new behavior) to achieve MCSt.
· Step 4: Repeat Step 1-3 for different TB if required.
	1.New consecutive-slots criterion for resource selection from S_A (if needed)

	Approach-2
	“guarantee MCSt for single TB and best effort for multiple TBs”

· Step 1: Higher layer triggers L1 resource selection for one TB with one set of parameters ([image: image15.png]DYioTx
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) + “number of slots for MCSt” which could be derived based on CAPC of the logical channel/TB or other means.

· Step 2: L1 report a set of candidate multi-slot resource (SA) according to most of the existing L1 resource allocation procedure (FFS: RSRP calculation / threshold may need to change)

· Step 3: Higher layer selects a candidate multi-slot resource either randomly (R16/17 behavior) or according to a consecutive-slots criterion (new behavior).

· Step 4: Repeat Step 1-3 for different TB if required. 
	1.the determination of “number of slots for MCSt”;

2. New consecutive-slots criterion for resource selection from S_A(if needed)

	Approach-3
	“guarantee MCSt for multiple TBs”

· Step 1: Higher layer triggers L1 resource (re-)selection one time for one or multiple TBs with one set of parameters ([image: image21.png]DYioTx
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) + “number of slots for MCSt” which could be derived based on CAPC of the multiple TBs.
· Step 2: L1 report a set of candidate multi-slot resource (SA) according to most of the existing L1 resource allocation procedure (FFS: RSRP calculation / threshold may need to change)

· Step 3: Higher layer selects transmission resource for the one or multiple TB(s) from the reported set of candidate multi-slot resource (SA).
	1.triggering of resource selection for multiple SL process at the same time, i.e., indicate multiple set of parameters for multiple TBs at the same time;

2.the determination of “number of slots for MCSt”;

3.select resources from multiple S_A at the same time




The following question is to check companies view on the preference of the RAN1 designed candidate Approaches with the consideration of RAN2 spec impact.

Question 4: Which Option do you prefer from RAN2 point of view considering the RAN2 spec impact?

· Option-1: Approach-1;

· Option-2: Approach-2;

· Option-3: Approach-3;

· Option-4: Leave to RAN1;

	Company
	Option
	Comments

	OPPO
	 Option-1/2/4
	Option-3 is not preferred due to the biggest impact on of RAN2 spec structure.

	NEC
	Option-1/2/3
	

	LG
	Option-2
	For approach 1, to achieve MCST it needs to define new behavior (i.g., consecutive-slots criterion). If there is no consecutive-slots criterion, MCSt cannot be achieved.

For approach 2, even though not defining new consecutive-slots criterion, MAC layer firstly selects resources for TB-1, and later selects resources for TB-2, and when selecting resources for TB-2, the resources can be selected in a way to concatenate resources selected for TB-1.

For approach 3, it is not preferred due to the biggest impact on of RAN2 spec structure.
Therefore, we believe that Approach 2 has the least specification impact among the three approaches for ensuring MCSt.

	Ericsson
	Option 4
	This shall be determined by RAN1. RAN1 LS is just seeking inputs on the questions. RAN1 is not seeking inputs on which alternative shall be adopted.

	Apple
	Option 4 or Option 2/3
	We agree with Ericsson that RAN1 doesn't ask RAN2 preference. Why RAN2 proactively do it? 

If majority prefer to show RAN2 preference, we don't prefer Option-1, which is useless or bring no benefit for MCSt. If Option-1 is adopted, we are questioned why MCSt needs to be introduced. 

	InterDigital
	Option 4 or option 3.
	RAN1 should make this decision.  In RAN2, we can simply indicate that all these approaches are feasible, but that approach 1 and 2 cannot guarantee consecutive resources.  Alternatively, approach 3 is the only one that gives guaranteed MCSt for all cases, so it should be preferred.

	Lenovo
	Option-2/4
	For option-1, PHY provide resource set in a discrete way and whether consecutive resource can be found is questionable. For option-3, too much impact for RAN2 spec is expected. So we prefer option-2

We are also fine to leave the decision to RAN1

	Xiaomi
	Option-1/4
	There is no question to ask for RAN2’s preference, so better to leave to RAN1 to decide. But from our point, we prefer approach 1. 

	ZTE
	Option-1/4
	Option-1 has least impacts on MAC. Although Approach1 cannot guarantee MCSt for multiple TBs if there is no consecutive-slots with good sensing result. Approach2/3 can guarantee MCSt for multiple TBs just by sacrificing sensing performance. However, since the UE can initiate COT sharing to other UEs, the occupied time resource of type 1 LBT may not be wasted for Approach1 even if MCSt is not selected.

	ASUSTeK
	Option 4 or Option 2/3
	While the decision should be left to RAN1, Approach 1 doesn’t provide much gain in MCSt. 

	Intel


	Option 4
	Agree with Ericsson’s point that RAN1 has not explicitly asked for RAN2 preference.

Anyway, considering the different options, we assume Option 1 and 2 are the easiest to support but offer questionable benefit. But, ultimately, RAN2 can just inform RAN1 on the feasibility and let them decide on this aspect

	Nokia
	Option 4
	RAN1 does not seek guidance in the LS, however we may provide comments that approach 3 will need some MAC/PHY interworking.

	Spreadtrum
	Option 4/Option 1
	RAN1’s LS does not ask for RAN2’s preference for these approaches, but we prefer approach 1.

	Sharp
	Option 4
	Similar view with Ericsson.

	vivo
	Option-3/4
	We think the LS does not ask about RAN2 preference but only the answers to the questions. Since approach 2/3` involves RAN1 design, RAN1 can make the final decision.

	Huawei, HiSilicon`
	Option1
	

	Qualcomm
	Option 4
	RAN1 didn’t ask. 


[Rapp summary]

Among 17 companies replied this question, 

Option-1 (Approach-1): 6
Option-2 (Approach-2): 6

Option-3 (Approach-3): 5

Option-4 (Leave to RAN1): 14
There is a majority view on leaving this decision to RAN1, and for Approach1/2/3, there is no majority view, so it is suggest to further discuss RAN2 preference and whether to indicate it in the LS reply, if can not converge, RAN2 rely on RAN1 for the down selection.

Proposal 4 R2 further discuss whether to indicate R2 preference in the reply LS. If R2 cannot converge, R2 rely on R1 for the down selection.

4 Conclusion

We have the following proposals:

Proposal 1
For Qustion-1 from RAN1 (Q1 in R1-2304257), R2 replies that it is feasible to select the resource for a single TB in MAC layer and concatenate across separate resource selection triggers across TBs in a best-effort manner.
Proposal 2
For Qustion-2 from RAN1 (Q2 in R1-2304257), R2 to discuss how to reply to R1 on whether it is feasible trigger the resource selection procedures for multiple SL processes at the same time. If R2 cannot coverage, R2 replies that there is no consensus in R2 on the feasibility of approach-3.
Proposal 3
For Qustion-1 from RAN1 (Q1 in R1-2304257), R2 replies that it is feasible to of provide a new parameter “number of slots for MCSt” to L1 when triggering resource (re-)selection for MCSt.
Proposal 4
R2 further discuss whether to indicate R2 preference in the reply LS. If R2 cannot converge, R2 rely on R1 for the down selection.
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